
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

3٫347 × ________ = 3347 5٫062 × ________ = 50.62

10٫158 × ________ = 101.58 10٫238 × ________ = 10238

2٫02 × ________ = 2020 1٫626 × ________ = 162.6

9٫362 × ________ = 936.2 6٫893 × ________ = 68.93

6٫764 × ________ = 676.4 3٫317 × ________ = 33.17

1٫424 × ________ = 1424 7٫554 × ________ = 755.4

7٫512 × ________ = 751.2 8٫957 × ________ = 895.7

2٫425 × ________ = 2425 4٫594 × ________ = 459.4

2٫598 × ________ = 2598 9٫218 × ________ = 921.8

5٫877 × ________ = 58.77 3٫631 × ________ = 3631

www.snowmath.com

https://www.snowmath.com


StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

3٫347 × 1000 = 3347 5٫062 × 10 = 50.62

10٫158 × 10 = 101.58 10٫238 × 1000 = 10238

2٫02 × 1000 = 2020 1٫626 × 100 = 162.6

9٫362 × 100 = 936.2 6٫893 × 10 = 68.93

6٫764 × 100 = 676.4 3٫317 × 10 = 33.17

1٫424 × 1000 = 1424 7٫554 × 100 = 755.4

7٫512 × 100 = 751.2 8٫957 × 100 = 895.7

2٫425 × 1000 = 2425 4٫594 × 100 = 459.4

2٫598 × 1000 = 2598 9٫218 × 100 = 921.8

5٫877 × 10 = 58.77 3٫631 × 1000 = 3631
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